A ALY SN ASFD
H: sOHE MBI S5 (sZdldsd/s2 - 5&)
o9l sE MEEY E4 (B9 ®R)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
A=z 91,094,956 53,901,670 37,193,286
2 54,122,603
Xl 26,008,000
< 10,964,353
SOHE 8|8 (sl b/sY - &) 8,942,000 9,048,625 A 106,625
Xl 8,942,000
=& MdzE3 24 8,942,000 9,048,625 A 106,625
Xl 8,942,000
SEMEEIFY (L) 1,289,000 659,000 630,000
X 1,289,000
403 XIS E X201 & 1,289,000 659,000 630,000
Xl 1,289,000
01 X SHMA2E X 1,289,000 659,000 630,000
OEx=4&EXY sE4EaHE 1,289,000
Xl 1,289,000
SEMEEAZIH(SAMER) 4,982,000 7,679,000 A 2,697,000
Xl 4,982,000
403 UHXSHHSA=0l& 4,982,000 7,679,000 A 2,697,000
X 4,982,000
01 X ESHHMA=LE L 4,982,000 7,679,000 A 2,697,000
OLEISLUHEXNY sEMHEEZFHI 4,982,000
Xl 4,982,000
HANSTL(SAER) 1,103,000 700,000 403,000
Xl 1,103,000
403 XSS A=0l& 1,103,000 700,000 403,000
Xl 1,103,000
01 XM A=2E X 1,103,000 700,000 403,000
OLEtsHEXNY MALIS L 1,103,000
Xl 1,103,000
SESHA 2483 d=XFR(sAER) 1,568,000 0 1,568,000
Xl 1,568,000
403 MHXISHHE X201 E 1,568,000 0 1,568,000
Xl 1,568,000
01 X SHHAN2E= 1,568,000 0 1,568,000
OLEISUUHEXNY sESHNE LS 1,568,000
Xl 1,568,000
FHEZNE & NANE(2ELXNIMNE/NALEA) 40,211,903 44,815,545 A 4,603,642
= 16,875,000
Xl 17,066,000
< 6,270,903
FHMEHFMNA 856,403 1,225,345 A 368,942
X 260,000
< 596,403
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A= ALYUH= SN AFRFEHY
H: FHESZENE £ NGHL(FELNGMNL/ANLSLEAI)
ool FHAB YN CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

FAX MM AIS(BESR) 260,000 143,000 117,000
X 260,000

403 UHXSHHSA=0l& 260,000 143,000 117,000
Xl 260,000

01 X SHHMA=E L 260,000 143,000 117,000
OZANEHSAXY F=HXIHM 260,000
Xl 260,000

OtSCH22tE JtRI| 200,000 240,000 240,000

403 MtXSHHS =0l & 200,000 240,000 A 40,000

01 X SHMA=2EE 200,000 240,000 240,000
ootst22t JtRJ N & 200,000

orstt22ter 22 H 20,000 20,000 0

307 21201 A 20,000 20,000 0

02 LB AAFEE 20,000 20,000 0
ootst22te 224 20,000

AL E 2™ 124,503 160,000 A 35,497

202 04 Hl 4,503 0 4,503

01 = LH 4 1 4,503 0 4,503
OAlLIOIHE 23 &4 =8 4,503

403 MHtXISHHS A= 0l& 120,000 160,000 A 40,000

01 HIXSHMA2E X 120,000 160,000 A 40,000
OALIOER ZE E4 120,000

FHMEEH L 51,900 262,345 A 210,445

201 et 22,700 40,000 A 17,300

01 At 221l 22,700 40,000 A 17,300
OA= - Fe2as 29 12,400
O3SFTHILMEEAM F& 6,000
o=22z0= 2 2F =4 4,300

202 04l 29,200 22,345 6,855

01 = LH 4 Hi 29,200 22,345 6,855
OAELREX 8,000
OZFFMEEHE =4 =X 6,500
OF UYL ET 8,300
OCIXtr 23 A=A 6,400

st A= X2 200,000 400,000 A 200,000

403 LRI S A S X201 & 200,000 400,000 A.200,000

01 *XSHMA=2EE 200,000 400,000 A 200,000
ot A= N 200,000

NAUEIBAE &5 39,355,500 43,590,200 A4,234,700
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A= ALB SN AEFAD
H: FHESZENE £ NGHL(FELNGMNL/ANLSLEAI)
S NAMEIBAIE &5 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 16,875,000
Xl 16,806,000
= 5,674,500
AT ESH(HE) 5,900,000 10,442,000 A 4,542,000
X 4,500,000
< 1,400,000
403 UHXSHHSA=0l& 5,900,000 10,442,000 A 4,542,000
X 4,500,000
< 1,400,000
01 X SHMA2E X 5,900,000 10,442,000 A 4,542,000
OS+4BNN A=SSH 5,900,000
Xl 4,500,000
< 1,400,000
L2 SRE(s4AER) 13,653,000 9,859,000 3,794,000
Xl 12,306,000
< 1,347,000
403 XIS E X201 & 13,653,000 9,859,000 3,794,000
Xl 12,306,000
= 1,347,000
01 X SHHA2E = 13,653,000 9,859,000 3,794,000
OLSUHHEXNY 254 13,653,000
X 12,306,000
< 1,347,000
FS0ZESHRAEFHISEES ML (Z2) 16,875,000 16,900, 000 225,000
= 16,875,000
403 A X EHHS 20l A 16,875,000 16,900, 000 A 25,000
= 16,875,000
01 X ESHHMA=2LE L 16,875,000 16,900,000 A 25,000
OFE0IZSHFAIYFHIY S W 16,875,000
= 16,875,000
KGO ALE X & 2,927,500 6,389,200 A 3,461,700
201 Ler24E] 1,500 1,200 300
01 At 2t 2l 1,500 1,200 300
OXSIHLAY 22l 2 1,500
202 oddl 8,000 8,000 0
01 SLHOIYI 8,000 8,000 0
OXYHY setdy & "ot 4,000
oLdZTENE geFA 4,000
403 MtXISHH S0l & 2,918,000 6,380,000 A 3,462,000
01 XS M A=2EE 2,918,000 6,380,000 A 3,462,000
Ok N =HaddH| 50,000
O=Z=RU =HEFFH 80,000
O=ZIE FHE3HH 75,000
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